
EN

Underbody Armour for:
Volkswagen Amarok (2010-2016, 2016-2021)

2333.5821.1 2111.5821.1/32333.5821.1/6

DE

UNDERBODY ARMOUR INSTALLATION MANUAL
(FUEL TANK)

MONTAGEEINLEITUNG FÜR UNTERBODENSCHUTZSYSTEM

ver.2





3

S - 17
EN Ratchet
DE Ratsche

1 2 3 4

x4x1M10 M10x30 x1 M1010 x5

B1
B2

A



4

B1

B2

1



5

M10=50 Nm

A

3;4 3;4

2;3







EN

Underbody Armour for:

Volkswagen Amarok (2010-2016, 2016-2021) 
2111.5836.1.3; 2333.5836.1; 2333.5836.1.6;

DE

ENGINE AND RADIATOR PROTECTION INSTALLATION MANUAL

MONTAGEANLEITUNG FÜR MOTOR- UND RADIATORSCHUTZ

ver.2





3

S - 12;
S - 13

EN Ratchet
DE Ratsche

1

7

2 3 4 5 6

x1x1 x1 M10x90M10 x1 M10x30 x4

M8x40 x4

M10x130M10x80 x1

A

B

8 9

10 x11 8 x4



4

B



5

M10=50 Nm

1

2

4;8

5;8

3;8

A
6;8

6;8

7;8;9

7;8;9

7;8;9

7;8;9 6;8

6;8



6

M8=30 Nm

M10=50 Nm







EN

Underbody Armour for:
Volkswagen Amarok (2016-2021)
V - 2,0 TDI; V - 3,0 TDI;

2333.5856.1 2111.5856.1.32333.5856.1.6

WWW.RIVAL4X4.COM

DE

UNDERBODY ARMOUR INSTALLATION MANUAL
(GEARBOX)

MONTAGEEINLEITUNG FÜR UNTERBODENSCHUTZSYSTEM
(GETRIEBESCHUTZ)

Ver.2 



2



3

S - 13;
S - 17

EN Ratchet
DE Ratsche

1 2 3 4 5 6

x2x1 x1M10 M10x30 x6 x2 x1M8x30M8x25M10

7 8

10 x78 x3

A

B



4

x2-3

4;8

3

6;7;8

2

2

2333.5836.1/6

B



5

1

4;8

4;8

M10=50 Nm

V6 3.0 TDI



6

V6 3.0 TDI

B

1



7

A

5;7

4;8

4;8

4;8



8

M10=50 Nm

M8=30 Nm



9



10


	2333.5821.1.6_21_Инструкция
	2333.5836.1, 2111.5836.1.3, 2333.5836.1.6 Инструкция по установке
	2333.5856.1.6_21_Инструкция



